H £ 0l & AF & S

AT SO A BN SXIH M}

SN ST™HD
Hm: G20 A SXIAE P&
Chel RO\ EMEBEE

Al A

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
SXIE 1L 44,061,340 40,993,552 3,067,788
= 23,734,497
[ 2,344,261
= 4,721,803
Ea 13,260,779
HE0N EMAlE SXAR F& 22,228,550 19,586,854 2,641,6%
= 13,008,464
[ 1,111,140
= 2,653,179
= 5,485,767
=D =MEEH 14,185,951 13,586,808 599,143
= 11,110,464
[ 1,383,778
T 1,691,709
sXaga 2 25,200 25,200 0
201 er2 3| 25,200 25,200
01 Al 21| 25,200 25,200
O SN ASBE U HIZPY
50,0003 *15J4 2+ 123 9,000
O %&8 SAs0 N2AE 22
90,0003 * 1504 2+ 122 16,200
JIZMEEE YHSN 13,671,090 13,085,034 586,056
= 10,936,872
= 1,367,109
i 1,367,109
301 2N = 13,671,090 13,085,034 586,056
= 10,936,872
= 1,367,109
[Ea 1,367,109
01 Al EE A S (2 DEXR) 13,671,090 13,085,034 586,056
O JIZMEDE MO
1,139,257,500& 123 13,671,090
= 10,936,872
= 1,367,109
= 1,367,109
JI=ME2E HAEMSH 146,990 128,179 18,811
= 117,592
= 14,699
= 14,699
301 LeENZ 146,990 128,179 18,811
= 117,592
< 14,699
= 14,699
01 Al EEATZ(2REZME) 146,990 128,179 18,811
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O JZNEZE HAEHZSN
146,990,000 *14] 146,990
= 117,592
= 14,699
= 14,699
R0l 56,000 67,000 211,000
= 56,000
201 Ler23H| 56,000 67,000 211,000
= 56,000
01 AR2teld| 56,000 67,000 211,000
O B eyl N
56,000,000 *14! 56,000
= 56,000
J|==Z At2el 257,152 257,152
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01 Al 22| 2,400 2,400
O MEPEeIAs| HAag
70,0003 * 10 *23] 1,400
O JZHEZEHE 29 2t
50,0002 x207H4 1,000
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O SEXA IS B2
850,000 13| 850
O SEXTA X SFUH
1,390& 150 £ *12& 2,502
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O SETAL X+ RS XA
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301 LB F 250,000 250,000 0
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80,000,000 14! 80,000
O SIYAHC W=H*H XI&
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308 AXISHMSOIN 27,549 22,273 5,276
08 WEI|Z0CHEtE = 27,549 22,273 5,276
O JIZ4+3X DEIG X
27,549,000 * 10 2 27,549
S DUFHIXHAS 1,970 1,970 0
= 1,970
101 2124 d| 1,970 1,970 0
T 1,970
M IIRIZ2EXSEs 1,970 1,970 0




0H
i’
oF
uJ

AE =2XAE P
&

+

AH
S=

|
(=]
-

=XH D
D OE0 &8
L =eIE

2A:
Pk
&

[ee]
° 5122 8|8 2 =13 omm
n0 2 8192 |~ < ; =
E g 3|9
F=)
S oo
B 2 8|8 8|8 3 e — =l
L W NN < |0 o > 8 S
el < , 3 < e
o< . = =
RIS
o O
sglasalglgls g£/g8ls 8 sc28l8)s 8 8 8 8 8§ 888
11%%@63,3, S|lo|ls o 6,1M,o,o,6,o,8,o,6ooommmmmm
s 5 © S = g S 88|88 8 , , ,
el IR I8 8 &8 § ® - B8YTVI|gIFS *o0®
|.N|._ — | —
=3
Wl W m
30 = —
W g oo @ o<d 3 - —— —
a ) S00x 9 g ¢ T g & ¢ 4 4
ar m m m.. om_L t omt [0S ,.w m_wo Ho 4._..no *o *‘_ m..xo ol*_c - ) =~ =
=8 o & il 80 — Of of ® oy % by
5 |28 “Sl | 2w S8 © 5 5 s g's s R
A ol & /m.w\% wm A._% o & K i ® T EQ 5= - .rom; m.u@.._m
: - =i 2° 3 "8 % @ @ Boguy 9 He dg og
2 2 25| | Bex B | 28 8 5358 <) HE.ELB
= = oJ oK u._.O.m = =) = S 0 30 S s oy o 5
L B ol S = +<+S . 3K
B ._N_| _l_l .n._.U W._M ol_v O_v | __o._ ok —
o &l K4 Ho KO = = = _— = WAﬁ
= |» ¢ = W5 0 _ W W M = 8
m W H D = 0 = o Kir oJ Kir ™ N H = ! s
= |= o uo &0 0 % _ mw o MW ok &Kk ok W oV R o °
& |or - Rl | B ™ d=l g2 @ ®» ®» w w M| |B me g al
[ = S I L -1 R e Lk S S A i I B S S =
. . < |_ (" up n = - 30 +n — | %R0 = (=3 Or =00 =00 K o = ok RO ) T .
I By K SElE R (HE R o Wb M5 5 = = musMcalRldzn O 6O
ar ol T - - _x_.o _H__l __A_.O __A_.o HI H_n_ ) - el = 0 A I = = R |
RO % B SMEs (2T e <a Blidw wm o ow w mg g L w5 H e o o r o
_ = =122 0 |PE o mg_ Ho W BN w o M N wxewm 3 ®|MYe 0 KRR
s o S|l —_ o ol | o.
% 0J ioH = 3 Qe IS O S < @) O O O @) @) - O . nm/_ O I I |
¢ 52




od
i’
oF
uJ

3 S 8 S S S
< < N ~ N <
A0 QN 2 B 3 8 ~
KIo
&
D
S 8 8 S e 8
«© < A @ <
o S ¥ | :
LH3r
il
RIS
8 8 8 8 88 2888 8 8 8 8 8 8 888 8 8 8|8 8|8 8|8 S 818
< < < < < Q9 R < < < < < < Qe < < < QN NN NN N N
w6 ©8 w8 Ly T g~ Y 8 g g @ 8 Sipd x o dFgggLg 8 g~
al
<
S
H H H
404 4 q4 moodA@m 4 o4 o4 4 4 4 4w w4 7l
Lo =~ =~ = = o = ¢ =~ =~ = = =~ =~ =~ X % =~ = o
RO - LAY 0 x ) x x %_M._ X q*a x x x x * x x of oF x X wwo
0 |8 ws 18 K 3 3 > S oo *
5 |PSES829S 8 S8 S Ssoaeg - o2 o8 8d% ¢ 5
C |8 58 ~8 HE 8 8758 SxEx8s8 8 & J <wd_§ S
) o s s MG oG o © B0wo Do Ho (Ho 8w T o © W o 2ol :
= |a ﬁ iof E Y =R TR T ~ E S
F = 0 oK iy ._% om._.m ol 0H . = ol 0K = = i 1 w._& _
z | © = ° LTI K o M m K o WM 3 = oF
- B ROR R 5 oy M Moo= 2 2 H K o F o |Z 20 =
== ¥ 2 S X H B B N M g o= £ = g —
= i KJ — &J rr )| B0 1 10 101 o] o) 10 _ = n
= io! 8 @ 3 o 3 & B @ = % Koo owmo oa m = u
0] prdd — 10f o} 30 OH o] IS o = o] S o — o
= [0 ™ =X o . W F5_ oW @ o R om P Mms ATy © 8
or 7] ™ e 7| =) 1 180 o] 80 7 = o Ok X 0} o o} = o or [
LU Do - T P mufm o o gw @ B o I xd W o |x e R [o Ok
N Roo= o R E w2 H <+ mom RO OM O Spa Ww g R IRD op 5K
- al ol _.._o J0 ol 81 00 ulJ __oI — o) _.Io c._E ._o D._E Lo -+ i} i o0 LO __o_.‘_ Si i A H_._ HI 7
&l T OhR MR M a = L- o 2 = [ & a0 8 100 o8 0 00 ] frd -1 K o
g [of e WA R N aRew O ® o W AR NN oW R N 2 |2 R =
: o O O ©c o0 0o 0 0 O 0 x00 O O |xn — o O oF
X = a8 T al
I+ il r




A SXNEH
M =0 NAts SXAtel 23
gel: 22 (OE) X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,100
s 4,900
307 lztol & 7,000 3,000 4,000
= 2,100
= 4,900
01 22X +&H| 7,000 3,000 4,000
O SYRTX L RE2H| N
500,000 %14 7,000
=S 2,100
s 4,900
2832 29 30,362 32,864 A2,502
201 2= 30,362 32,864 A2,502
01 At22t2ltl 16,510 16,144 366
O Aldate] 89 =2 12,910
- sgd)| otd &L 89
166, 1003 * 12 1,994
- dojerdae] 49 125,000& 122 1,500
- fel3H EY 161,300« 12& 1,936
- d=J| & dlal 2el 407,300 123 4,888
-V QEHY 23 216,000 122 2,592
O E2a=2da2E 300,000 x 12 3,600
02 S3=gHl 13,852 16,720 2,868
O 388= 11,652
- & 2= 920,000 * 122 11,040
- dotee 2= 51,000 * 122 612
O 223d s HYEE & HMEE
200,000& %12 200
O Ald= | 2]
2,000,000 * 10 2 2,000
detd e 2EH 0= (EHI) 26,400 0 26,400
= 26,400
301 EetE NS 26,400 0 26,400
== 26,400
03 A2 E A5 2 (XL THH) 26,400 0 26,400
O detge 28do+¢
20,0003 1102 ~12& 26,400
S 26,400
AR XA X 5,672,487 3,850,412 1,822,075
= 1,898,000
= 1,053,940
= 1,033,391
o 1,687,156
ANIERHE K& (HEAY) 469,707 282,628 187,079
301 EetE NS 469,707 282,628 187,079
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E M

SINESES N}
G20 SMHAlE SXIAE 28

=Rl ARISXIAIE X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 ARSE2RAEEdS 469,707 282,628 187,079
O AMBI=XAIE ABI=SRR S0 (HE)
1,000,000& *37H*12& 444,000
O AMBI=XAIE ABISR@ WSHI(HE)
2,0002 37 H =258 19,092
O MIIZXAE AMRZELLY TISHI(HE)
330,720 x20H 6.615
AR SR2ME K& 67,562 48,280 19,282
301 EtE NS 67,562 48,280 19,282
0 AR=S224s 67,562 48,280 19,282
O ARISXAIE ARISRQEF SAI
7,0002 37 *258 66,822
O AlISXIAE AlRISRRE dllE28s
20,0002 »37 740
SEAEISA2 XE(=Hl) 11,520 11,160 360
S 3,45
= 8,064
307 elztol & 11,520 11,160 360
= 3,456
[Ea 8,064
10 Al SXAAEEHE 22X 11,520 11,160 360
O HgESEAASA2 SAL EE8E
120,000 x8&* 12 11,520
=S 3,456
s 8,064
SEA=X2 X 657,632 514,356 143,276
307 lztol & 612,632 514,35 98,276
02 2B A HE L 18,000 18,000 0
O XEAE 210101 AtdiZel At
5,000,000 * 174 2~ 5,000
O 324245 BFH wd 28
13,000,000 * 10K 2= 13,000
10 Al SXAEEE 22X 594,632 496,35% 98,276
O oigSeAtel=sA2 284 X
594,632,000 * 19 2 594,632
402 QI+ X201 & 45,000 45,000
01 QI X2 AL E A (KHMITHE) 45,000 45,000
O At &g 7 K&
45,000,000 *1CH 45,000
C=QZXAE2S (ATNISSH) 41,672 45,434 A3,762
[ 27,321
= 14,351
307 21201 & 41,672 45,434 A3,762
[ 27,321
= 14,351
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SINESES N}

M =0 At SXAtel 23
Rl AlRISXIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 41,672 45,434 N3,762
O ==0Ad 2HI(ATNSSH)
41,672,000 * 100 2 41,672
= 27,321
< 14,351
C=QEXANE 2 (G252 ) 1,599,885 1,447,249 152,636
[ 1,026,619
= 573,266
307 212+01& 1,599,885 1,447,249 152,636
= 1,026,619
= 573,266
10 Al SXAEEHE2EHI 22X 1,599,885 1,447,249 162,636
O ==0Ad 2EdI(aligsIed)
1,599,885,000& » 100 2 1,599,885
= 1,026,619
[ 573,266
C=0ME SARNEE =L (ZHI) 42,120 31,230 10,890
== 12,636
o 29,484
307 212+01& 42,120 31,230 10,890
[ 12,636
T 29,484
10 AlRISTIAIEEE 22X 42,120 31,230 10,890
O LHU=TAIE BAX S4B
2H) 0,960,000 *14] 30,960
= 9,288
[Ea 21,672
O E=0=XAE AR SE=Z(AXM
3H) 11,160,000 * 14! 11,160
== 3,348
[Ea 7,812
FUQAAIE 2SR 2,711,429 1,372,806 1,338,623
= 1,898,000
== 406,714
o 406,715
307 212+01& 2,711,429 1,372,806 1,338,623
= 1,898,000
= 406,714
o 406,715
10 Al SXAI2EE 22X 2,711,429 1,372,806 1,338,623
O ZFARAAL 2SHI(AHEEE:R)
2,711,429,000& 10 A 2,711,429
= 1,898,000
= 406,714
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e
M =0 At SXAtel 23
Rl ABIZXIAIA X2 (ctol: &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 406,715
HAUQAALSSANESE =L (EHI) 50,760 41,400 9,360
== 15,228
[Ea 35,532
307 212+01& 50,760 41,400 9,360
< 16,228
s 35,532
10 Al2IS XA EEE 22X 50,760 41,400 9,360
O FUQAAE SANEESLG
50,760,000 * 100 2 50,760
= 15,228
o 35,532
FAQAA LY ERAH|(EHI) 3,400 4,200 A800
== 1,020
o 2,380
307 212+01& 3,400 4,200 A800
< 1,020
= 2,380
10 Al2IS XA EEE 22X 3,400 4,200 2800
O BUSUAE AFSAL(AHZURYR
) 3,400,000 * 100 2 3,400
= 1,020
Ea 2,380
MEISXAN E0= XA 16,800 16,800 0
== 6.720
o 10,080
PN = 16,800 16,800 0
[ 6,720
T 10,080
243 16,800 16,800 0
O ASI=XA 220S X8
56,0002 3002 16,800
= 6,720
[Ea 10,080
& 144,690 133,830 10,860
s 1,300
s 143,390
107,110 100,610 6,500
7,200 6,600 600
7,200 6,600 600
O MaSE UMY 822 MH
12,0002 *600 7,200
99,910 94,010 5,900
oS (FAANS, NLHH) 10,010 0 10,010
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=XFD
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M =0 At SXAtel 23
el NasSsSdgdxd (St &)
SA - B BRA(SH) - HRA - of v e HIDE2
O AR AHItAbI(Z2)
30,0002 x4~ 12 1,440
O gdedXlt ==08I(2) 40,0002 x50 2,000
O Xt Aol (13He)
450,000 * 137 2 5,850
O AKX AHEoHI(BHES)
30,0002 x2& * 122 720
03 A2 E A0S (XILTHH) 89,900 0 89,900
O MESAAE & SR A2(4, F4)
10,000, 000& x22] 20,000
O DE4 +8T 224, £4)
1,200,000 22 2,400
O 0ld=20 (2, =4)
30,000,000 23] 60,000
O H4AS FIRTT L 9= 2123 NS
100,000 x25EH *33] 7,500
Al =SR2 ?3s 2 1,260 1,260 0
201 2= 1,260 1,260
01 At22t2l] 1,260 1,260
O RSN HARIRE FdE
70,0003 6 *12] 420
O AM2IZiDIE 2823 g4+
70,0002 x6 2 +23] 840
AR SRER SAAF XML 33,720 29,360 4,360
201 fer= 3| 12,720 9,360 3,360
02 S3=gHl 12,720 9,360 3,360
O &8 sUE SuHl
53,0002 x20CH~ 12 12,720
307 glztol & 21,000 20,000 1,000
04 QIZHHAIAIRH 2 & 21,000 20,000 1,000
O A2A=SXISAHAL StotS U2l AL
21,000,000& »14] 21,000
ARISKIAIE SAA o282 X2 2,600 2,600 0
= 1,300
o 1,300
307 @120l & 2,600 2,600 0
== 1,300
o 1,300
06 28= 2,600 2,600 0
O AISISXIAIE AL A28 E XY
2,600,000& *14] 2,600
= 1,300
= 1,300
2Es X& 90,000 0 90,000
= 57,200
& 10,010




A SR
M =0 At SXAtel 23
=@t 2 22Es XA EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 22,790
SIS0 22lAL 12H] X 90,000 0 90,000
[ 57,200
= 10,010
= 22,790
101 @124H| 81,000 0 81,000
= 50,000
< 8,750
s 22,250
03 SR (RINHA) 222+ 81,000 0 81,000
O 2230 2c|AL 21|
40,500,000 24 81,000
= 50,000
< 8,750
= 22,250
M HA=2RE=SS 9,000 0 9,000
= 7,200
[ 1,260
T 540
4 BRA(RIHA)22N HEERES S 9,000 0 9,000
O =302 28825
375,000 =2~ 122 9,000
= 7,200
< 1,260
o 540
Zojel 25 X 13,991,958 13,157,900 834,058
= 7,382,457
= 1,571,587
= 5,037,914
ZoHel Moty XA 11,274,404 10,127,106 1,147,298
= 7,366,307
< 1,088,760
= 2,819,337
ZJOHAUEH 2 X AKX 149,190 147,438 1,752
201 er23 | 12,690 12,938 N248
01 At2teltl 7,100 6,700 400
O Zoiel AsSxtEX M2
1,200& 1,0000H 1,200
O Al Z0elE PIgt LSS LA M
20,0002 1605 3,200
O Zofel &= & AADhe 2A WF
1,000,000& %12 1,000
O Hofel=sA 28 ! =29
70,0002 %102 +13] 700
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2A:

SINESES N}

B ool 25 X
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O XA SEHHR A
4,500,000 12 4,500
O ZoKel JISZIIthEl X2
2,000,000& %12 2,000
O ZoHIIHY BHaHXIZ ALY
5,000& 115 x52%= 29,900
ZoHeIRIot & SEB X HAL 49,000 48,000 1,000
307 elztol & 49,000 48,000 1,000
04 QIZHHAMAMH 2 & 49,000 48,000 1,000
O ZoHe! stotsStial A
29,000,000 * 14 29,000
O FoHelel & JIS&AL
20,000,000& *13] 20,000
goelg=s 20 XNs 3,869,688 3,797,534 72,154
= 2,708,781
=S 348,272
s 812,635
301 EtE NS 3,869,688 3,797,534 72,154
= 2,708,781
= 348,272
[Ea 812,635
01 Al EE AT S (2 RDEEMA) 3,869,688 3,797,534 72,154
O Hifelds K= 3,869,688,000& * 14 3,869,688
= 2,708,781
= 348,272
o 812,635
=== (01x) X2 538,466 306,000 232,466
= 376,926
= 48,462
= 113,078
301 EtE N = 538,466 306,000 232,466
= 376,926
= 48,462
s 113,078
01 A2 HSHS(RNEERTHE) 538,466 306,000 232,466
O B+<0lx) X=
538,466,000 x 14 538,466
= 376,926
[ 48,462
T 113,078
o= (X&) XS 344,578 275,320 69,258
= 241,205
[ 31,012
T 72,361




2A:

SINESES N}

M Zoje 25 XN
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 344,578 275,320 69,258
= 241,205
== 31,012
[Ea 72,361
01 AR 2EHSHS(RNEXRTHE) 344,578 275,320 69,258
O MO+ (RH491) XIS
344,578,000 x14] 344,578
= 241,205
== 31,012
o 72,361
ZoHele=Hl K& 218,165 254,183 236,018
= 174,532
== 13,090
o 30,543
308 AFAIEHMSOIE 218,165 254,183 A36,018
= 174,532
= 13,090
o 30,543
11 S| 2SO0 UeB XA AIE 218,165 254,183 A36,018
O Z0He! e/=Hl A&
218,165,000 x14] 218,165
= 174,532
= 13,090
o 30,543
el 22717 ue 7,642 6,194 1,448
= 6,114
[Ea 1,528
301 2eEN= 7,642 6,194 1,448
= 6,114
= 1,528
01 AR 2EHSFS(RRNEXRTHE) 7,642 6,194 1,448
O ool FEII| N
7,642,000 *14] 7,642
= 6,114
Ea 1,528
MNASEOHR! MEHl & ZAH X& 3,212 3,212 0
= 1,606
= 482
Ea 1,124
301 EtE2 N = 3,212 3,212 0
= 1,606
= 482
= 1,124
01 Al EEABZ2(2REEMR) 3,212 3,212 0




2A:

SINESES N}

M Zoje 25 XN
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O MaSEel S5 Al & A
3,212,000& 14! 3,212
= 1,606
[ 482
T 1,124
&0l E4HIE XA 3,000 3,000 0
= 2,100
[ 270
Ea 630
301 LEIE NS 3,000 3,000 0
= 2,100
s 270
s 630
01 Al 2E AL S(FREXM) 3,000 3,000 0
O g Z0Hel E4HIE XI&
1,000,000 x3H 3,000
= 2,100
=S 270
s 630
ZOojIdRtelX& (et tel) 519,017 465,729 53,288
= 259,508
=S 77,853
s 181,656
101 ©1AH| 519,017 465,729 53,288
= 259,508
= 77,853
Ea 181,656
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Il;ﬁlf%i" ABIAEIA EXHANY (DFARMSE 22X 2 AL 122,500 154,106 231,606
[og]
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= 7,350
= 17,150
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122,500,000 * 14 122,500
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= 7,350
= 17,150
KERE8 AlSAHIA EXAI (EYE 018242 XA 10,800 10,800 0
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= 8,640
= 648
= 1,512
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= 1,512
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2,525,778

396,213

MW

385,191
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3,564
8,316

11,880

K& Atell2tel

Ao oA

32,708
21,4%
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7,541

31,263

1,445




2A:
X XH -
o e

=aak

SINESES N}
NSO Kol
A2 X3 A

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

10 Al SXAIEEE 2
2-

d=2d
O Xtghatelztel el

828X

30,708,000& *1

2,000,000 100 2

Ao oA

UMY

32,708

30,708
21,4%
3,07
6,141

2,000
600
1,400

31,263

MW

2,160,622
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= 233,272
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307 2I2+01 ™ 291,590 48,993 242,597
= 233,272
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= 22,000
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= 22,000
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O A& SAHE 24 16,200
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100,0002 *30&H 3,000
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O PSAHES O & e 221, 215
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= 2,087
= 2,087
K& EAt 20UI0IE X1 - s4(2124H]) 64,936 62,040 2,8%
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O Jl2 2ol 2,520,000 2,520




2A:
X XH -
o e

=aak

=XIF D
BHS S| (ST
ESEENIY

SoT oo

J23EI(SXE 20

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
J2ZH(SEEAE) 9,792 11,232 A1,440
201 er23 | 6,912 6.912 0
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701 JIEHRIHSEES 1,118,110 1,548,695 A430,585
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